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Background contributions
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= 𝑌𝑁 + 𝑌𝑓𝑜𝑖𝑙 + 𝑌𝐻𝑒𝑖𝑛 + 𝑌𝐻𝑒𝑜𝑢𝑡
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𝑌𝐸𝑚𝑝𝑡𝑦 − 𝑃𝐹

𝜌14
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𝑌𝐻𝑒𝑜𝑢𝑡

𝑌𝑓𝑜𝑖𝑙 = 𝑌𝐷𝑢𝑚𝑚𝑦 − 𝑌𝐸𝑚𝑝𝑡𝑦

𝑌𝐻𝑒𝑖𝑛 = 1 − 𝑃𝐹 𝑌𝐸𝑚𝑝𝑡𝑦 − 1 − 𝑃𝐹 𝑌𝐻𝑒𝑜𝑢𝑡

𝑌𝐻𝑒𝑜𝑢𝑡 = ? Need model for 𝜎4?

𝑌𝐴 =
𝑃𝑆 ∗ 𝑁𝐴
𝑄 ∗ 𝐿𝑇



Analysis so far…

• Looking at 2.254GeV 2.5T Transverse

• Assumptions:
• PF = 0.55

• 𝜎𝑁 =
7

6
𝜎𝐶

• 𝑌𝐻𝑒𝑜𝑢𝑡 = 0

• 𝑓(dilution) = 1 −
𝑌𝑏𝑔

𝑌𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑖𝑜𝑛

• No cuts used yet!









To do

• Apply PID/focal plane cuts

• Complete 2.254 GeV analysis (adjust bin sizing?)

• Correct for 𝑌𝐻𝑒𝑜𝑢𝑡

• Nitrogen data from Ryan to replace 𝜎𝑁 =
7

6
𝜎𝐶

• Error analysis?


